MAT SN

Voici quelques problémes sur la composition detions.

Soient :

fx) =x+2 g(x) =X -4 h(x) :%

Exercices:
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Solutions

1. f+g = x+2+%X—4=X+x-2

2 — —
5 9 _X 4 _ (x+2)(x 2):)(_2
f x+2 X+2
(le dénominateur doit étre différent de 0)

restrictions, ou % -2

3. g°f=g(f(x) = (x +2§- 4 = ;¢ + 4x + 4) — 4 = &+ 4x
X +5x+6_ (x+2)(x+4) N x> +5x+6

méme dénominateur
X+4 X+4 X+4

4. f+h=(x+2) +

_ (x+2)(x+4) . (x+3)(x+2) _(x+2)(x+4+x+3

mise en évidence

X+4 x+4 x+4
= (X*2@XHT)  otriction, ol x: -4
X+4
2 2
5. E:LX"'G+ (x+2)=x +ox+6, 1
f X+4 x+4  x+2

=(X+3)(X+2)D 1  x+3

= restrictions, ou % -2 et Xx# -4
X+4 Xx+2 x+4
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